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O=X3s& dIIR3 550,000& 128 6,600
O=Xa 2 Maea 10,000& =128 120
O=sXz2 FELERS 10,000 122 120
405 Xt&tE SHI 5,000 10,000 A5,000
01 AL EFHSHI 5,000 10,000 A5,000
O=X3 2 HHEYESHE AFIE 220 5,000
HZH2F A 49,987 49,507 480
Jl2ZH (o) 49,987 49,507 480
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Il 2ZHI(THoHH)

SN BA(SA) - MRAY - BES il HImEET
HEFAHH 9,600 9,600 0
203 R =&l 9,600 9,600 0
01 1228 =4 6,600 6,600 0
OJZ2I YR =L 550,000& »12& 6,600
04 EAS2IYRFLH| 3,000 3,000 0
ORN2EYRF=AHI 250,000 128 3,000
| =&l 40,387 39,907 480
201 £Br2%H| 14,947 14,947 0
01 At 22l 8,930 8,930 0
OJle=+=&Hl 3,590
OH2 ALY =E 4| 3,240
O= &l 2,100
02 =224l 6,017 6,017 0
OJlessl= 1,320
OHAAANTSZR= 4,697
202 Odl 25,440 24,960 480
01 = LH 4 Hi 25,440 24,960 480
O =L HI 25,440
O2 o dl 200,000& x10H +12& 24,000
OZ2l0ddl 60,000 «2H 122 1,440




N = 0l & At & Ml A

SN g
M A EAH B HI
Sl KR EHET CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
g 142,233 276,353 A 134,120
FEEAS ZHI 3,900 150,000 A 146,100
NEzgded=a 3,900 150,000 A 146,100
HEEEE L 3,900 0 3,900
201 Let24dy] 1,900 0 1,900
02 23=2gHl 1,900 0 1,900
0=s22= 150,000& =6CH 900
OAIE ZHI S X 1,000
206 = Hl 2,000 0 2,000
01 MHZ 8l 2,000 0 2,000
0OZ2Zx4d Z223, Hzg+Y 2,000
JEHYHHPEEIXN2H 88,915 77,415 11,500
TR EHAFT 33,885 22,385 11,500
AL R 2tel 29,885 18,385 11,500
101 @124l 1,910 1,910 0
04 JI2ZtHZ22HEE = 1,910 1,910 0
OFAZIEA 36,7203 1«52 1,910
201 £B-2d| 9,475 9,475 0
01 At 22l 2,970 2,970 0
ORI AL = EH| 2,970
02 2324l 6,505 6,505 0
O = Hl 1,500& %264 =100 3,900
O Xt& & Byl 2,605,000 = 1CH 2,605
401 A& HIZ 201 I 16,000 7,000 9,000
01 A& HI 16,000 7,000 9,000
OFA XISHEUI(EHS &tHE) 100,000 *160m 16,000
405 TtHabF S| 2,500 0 2,500
01 AL EFH S 2,500 0 2,500
Oolaa eIsd|7Y 2,500,000 = 1CH 2,500
SXz22d 4,000 4,000 0
201 £B-2dH| 4,000 4,000 0
02 =224l 4,000 4,000 0
O=323<LHA 3,000
O =l 1,000
HE X2 AIZH =2 55,030 55,030 0
orgrEasia 53,530 53,530 0
301 et a3z 53,530 53,530 0
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A & 0l & AF 2 E A A
2N g2d
HH: AL AU
Sl KRS HEET CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
g 136,370 277,190 A 140,820
FEHAIH A HI 500 150,000 A 149,500
NEaEig =& 500 150,000 A 149,500
MBS H TN 500 0 500
206 = Hl 500 0 500
01 MHZ 4l 500 0 500
o244 MHE+Y 500
HHAHMMFIXAZ2Y 83,783 75,248 8,535
FOtEHHZ=A 31,683 23,148 8,535
AL Rl 2tel 31,683 23,148 8,535
101 @124l 1,910 1,910 0
04 JIZHHZ22XNSE+ 1,910 1,910 0
OFANZFIEA 36,7203 1«52 1,910
201 24l 8,773 8,438 335
02 =224l 8,773 8,438 335
oA ZHl 4,836
OMS4A e 4,836
OAIE ZHI S X 1,332
O&FAMSX 2,470& 421 m 1,040
(OF=gNEIN 1,687& »173m 292
O Xt& & Byl 2,605
OAr8XEY 2,605,000 = 1CH 2,605
401 Al HIZ 201 Y| 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
OFAL 22 (421m") 20,000,000 * 1Al 20,000
405 TtHebF S| 1,000 2,800 A 1,800
01 AL EFH S 1,000 2,800 A 1,800
OBRNEZE(HE) ¢ 250,000& =4 K 1,000
SN EEPNRS BN 52,100 52,100 0
orgrEas i 50,600 50,600 0
301 LB A F 50,600 50,600 0
058-2-¥sE43 50,600 50,600 0
Oo0l&+¢ 49,200
oJle=¢ 200,000 15 *123] 36,000
Oa0= 200,000& x15H »23| 6,000
Ozl g 20,000 «159 23] *123] 7,200
ot =¢ 25,0003 «28H +23] 1,400
NSUHEA X 1,500 1,500 0
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N = 0l & At & Ml A

2M: A
HE: A HAIH B HI
o XNAREMNL =T

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEH 142,243 301,651 A 159,408
JHE S ALY B HI 2,000 152,000 A 150,000
NEaEig =& 2,000 152,000 A 150,000
HEEEE L 2,000 2,000 0
206 = Hl 2,000 2,000 0
01 MHZ 4l 2,000 2,000 0
OHEZH ¥ Z2Z2X4d 2l 2,000
LHAHXA2H 88,556 93,444 A4,888
grEE = 33,676 38,564 A 4,888
AR 22| 29,476 34,364 A 4,888
101 @124l 2,022 1,910 112
04 JIZHHZ22XNSE+ 2,022 1,910 112
OF A2 F 38,880 «1H x522 2,022
201 24l 7,454 7,454 0
02 =224l 7,454 7,454 0
OAMSAAZHI 3,900
O&EAMN.E&1 SN2l 949
O Xt& & B 2,605
401 A& HIZ 201 8] 20,000 25,000 A5,000
01 A& HI 20,000 25,000 A5,000
O & At22| 20,000
OHARL XS Y3 A
20,000,000& * 174 A& 20,000
slslz22d 4,200 4,200 0
201 Let24d] 4,200 4,200 0
02 2324gHl 4,200 4,200 0
O0z22= & HMA 4,200
odIIe2 200,000& 128 2,400
OEQoAIAH EY9E 100,000& = 12& 1,200
O&F=2J gxg 50,000& 12& 600
A KI2 A FA 54,880 54,880 0
orgtz sk 53,380 53,380 0
301 et d =S 53,380 53,380 0
0b&-cl-EtEEsEas 53,380 53,380 0
O0lE+% 52,480
OPIR==E = 200,000& x16H +12& 38,400
o&N= 200,000 x16H »23| 6,400
Ozl 20,0003 «16H «23| x 122 7,680
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ogta ¢ 25,0003 «18H +23] 900

PRS- R= PSR E=p 1,500 1,500 0

203 YR =2t 1,500 1,500 0

03 A MFXH S ZAY| 1,500 1,500 0
OXNFLH2t 3l 30,0003 «10Y «53] 1,500

HH2F A 51,687 56,207 24,520

JI2du(OieH) 51,687 56,207 24,520

HY =X ZH 9,600 9,600 0

203 YR =2t 9,600 9,600 0

01 JI22H =4 6,600 6,600 0
OJ22H I FaH| 550,000& 12& 6,600

04 EAN2IHRFEHI 3,000 3,000 0
ORN2ILRF=AHI 250,000 122 3,000

JlE2&l 42,087 46,607 AN 4,520

201 Let24E] 16,647 16,647 0

01 At 221l 8,930 8,930 0
os8H2YJlI2=+8Hl 6,830
o=l 210,000& 10X 2,100

02 =224l 7,717 7,717 0
O333LAA 6,017
oJIz2s3es= 1,320
OEMEIIRS 290,000 128 3,480
OstFEE}ES=HZ 150,000& * 13l 150
OMJIItEE T ++= 80,000& *13] 80
ONskHEE = 211,000& x 13l 211
ORE= & JIEHHA 776
O A& ZHl R Xl 1,700
OHASTX 100, 0002 »2CH 200
OsgxII=X 100, 000& *2CH 200
OZEISAX 50,000 =6 CH 300
O=AII=X 300,000& =23] 600
Od22JIRA 100,000& »3CH 300
OelEJl=el 100, 000 * 1CH 100

202 oddl 25,440 24,960 480

01 = LH o4 1l 25,440 24,960 480
O=L0 bl 25,440
O&Wodl 200,000& x10H 123 24,000
O&2 0l 60,0003 x2H 123 1,440
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S Tor
B wEedAy
St D2 AYI(TRre) o HE)
H-E8.a9(3) - HRAY - HES 0l &+ o4 il
OHRAAH =EHI 2,970
o=l 210,000& 10X 2,100
02 23224l 6,017 6,017 0
OJI2238= 1,320
OHRAANL SRS 4,697
202 4 HI 25,440 24,960 480
01 = LH 4 Hi 25,440 24,960 480
O =0 bl 25,440
OZHLH0dbI 200,000& *10E +12& 24,000
Oo&2 0yl 60,000& «2H x12& 1,440




= o
A & 0l & AF 2 E A A
ST
HE: SSHUMBHTNRY
Sol: FOIOIESH S EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
35t 156,849 289,226 A132,377
tHIHHEI A2 102,450 89,026 13,424
FOOtEHH A 45,670 32,246 13,424
AL R 2tel 41,310 30,710 10,600
101 @124l 1,910 1,910 0
04 D12t 22 HEE = 1,910 1,910 0
OHMBAEIIE A 36,7203 x1H «52& 1,910
201 ¢4l 19,400 18,800 600
01 At 2t 2l 3,780 3,780 0
OBt~ 3,780
OHAAMNG =2t 270,000& »14H 3,780
02 =224l 15,620 15,020 600
oA ZHl 3,900
OAMNS A | 1,500& %264 100 3,900
O &AL Xl HI 1,374
OHEAMFX 2,470 »b56 M 1,374
O Xt& & Byl 2,605
O&E X R A 2,605,000 = 1CH 2,605
0z22= % HMA 7,741
OHAMNY 223 7,741
—EMEIIZ 5,000
— Aot MBS 1,000
—Z4ENEER 211
—RERS 1,300
s = = 150,000& * 12l 150
— &It & 2 ALY 80
401 Al HI L 2 THHI 15,000 10,000 5,000
01 A& HI 15,000 10,000 5,000
OUEA I8 SL4L HHdSA 15,000
405 THobF S| 5,000 0 5,000
01 AL EFH S 5,000 0 5,000
O399 oxt7< 250,000& 2074 5,000
=xzeey 4,360 1,536 2,824
201 £B-2dH| 4,360 1,536 2,824
02 =224l 4,360 1,536 2,824
(©FR=a] 1,560
O=Xlzla tHety| 1,500& %264 =40 1,560
0332 % HAl 2,800
O=Xz& &Iz 1,000
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2K 3¢
A BB UMBETR S
ool EOIOEHFEA CER-ED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o=Xga2 == 500
O=2Xgla &AH) 50,000 *23| 100
O=2XNg& X & 100,000 x12& 1,200
SHA X A=K 56,780 56,780 0
Olet&E S A& 55,080 55,080 0
301 et A= 55,080 55,080 0
S E -2 -BtEEEEAZ 55,080 55,080 0
(OIURSE== 52,480
OoJl2xd 200,000 x16H ~12& 38,400
Oa= 200,000 162 *23] 6,400
O3 o a4 20,0002 x16H x23| x12& 7,680
OBt& =& 25,000 x52H 23| 2,600
PRS- R=1P S NP =N 1,700 1,700 0
203 €2 F=&d| 1,700 1,700 0
03 AIEH =X 2 F XY 1,700 1,700 0
oXNGed2AStT S 20,0002 x17H 53] 1,700
AN 2P A 54,399 50,200 4,199
Jl22Zdl(ala3H) 54,399 50,200 4,199
A=A A 9,600 9,600 0
203 € R F=&d| 9,600 9,600 0
01 J| 2 2HHR=XH| 6,600 6,600 0
OJ|2A2IL RN 550,000 x12& 6,600
04 EASHEYRFAH| 3,000 3,000 0
OBNSIEIEEFA 250,000 x12& 3,000
Jl2 &4l 44,799 40,600 4,199
201 LBt Y| 12,159 10,840 1,319
01 AP 22| d| 10,599 9,280 1,319
OYbt4=24| 7,869
OJlgx=24l 4,595
— J| 2 A2 H| 30,0009 x13H 390
— Btz 230,000 x13H 2,990
— ARE2546Y| 40,000 x13H 520
— S NFYH 80,000& 358 240
— 2374 35,000€ 13 455
OAl& &H|l s Xl 3,274
— HASXH 300,000 300
— SAI| KX Y] 400,000 *43] 1,600
e E IR PN 100, 000 *23| 200
— d 0| X 4l 200,000 *23] 400
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X{ XH - SH
(=R B

¢elr J2dHl(3sH) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

— Sl H®AY 57,4003 501 23] 574
— 2 BII= A 200,000 1CH 200
o=l 210,000 »13¥ 2,730

02 =24l 1,560 1,560 0
o0z22= % HA 1,560
oJl=z33e= 120,000& =139 1,560

202 4l 32,640 29,760 2,880

01 S LHOYI 32,640 29,760 2,880
O=Wotl 32,640
O&U ol 200,000& x13H «12& 31,200
Oo&2 0l 60,0003 «2H 122 1,440
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L= B

el

SA - B (A) - NTAY - BES 0l &t o il HDE2
203 2 =&l 9,600 9,600 0
01 122 YR8 6,600 6,600 0
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